#15 Cell functions

Multicelullar plants and animals contain
§ &7 many different types of cell. Each type of
'/, cell is design for a particular function.
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Here are examples of cells and their
functions in tissues
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1. Ciliated cells in respiratory tract ’(_65

Features: tiny hairs call dlm@hi h (a)n vmcus.
Function: waft % u &K teria gpd ®ﬂ£ a from the lungs.
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2. Muscle cells

Features: cells merge together to
form fibres that can contract.
Function: cause movement

3. Red blood cells

Features: have no nucleus, contain hemoglobin
Function: transport oxygen around the body
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Common misconceptions

Xylem and phloem tissue are N@ed Xgaex' carries water and
spor, gﬁ

mineral salts, while Phﬁsf amino acids.
e

In a vascula\ti\re\N the outside and Xylem is on

Examiner's tips

1. You need to be able to give examples of tissues, organs and organ
systems in both plants and animals. A leaf is an organ made up of a
number of tissues, e.g. upper epidermis, palisade, mesophyll.

2. If you draw a diagram to support an exam answer, make sure you
refer to its in your written answer. Annotation is more likely to help
you gain extra mark.

lobed nucleus .
bacterium

Example of annotation F }
Action of phagocyte

cytoplasm forms pseudopodia to surround
and engulf bacteria - enzymes are released
to digest and kill bacteria
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Figure above shows root hair cells. O u\(

1. Explain how the presence of root hair c 5[ \@cs enables the
efficient absorption of water a rQ\ é marks]
2. Root hair cells can absor ns %/ dZﬁ&s‘lon and active

transport.

a@ilal\ﬁ&%rm a‘ s }[2 marks]

n why res S may increase in root hair cells during the
uptake of mineral ions [1 mark]

Answers

1. - Large number of root hair cells give a large surface area to the root.
- Mitochondria are present to provide energy for active transport.
2. a) active transport is absorption of a substance into a cell or across a
membrane
- against (up) a concentration gradient.
- using energy
b) active transport requires energy



